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583 x10 = 5830
986 X 100 =98600
8864 » 1000= 8864000
" ap. T.

IMpbazomenin.

a) Eanns uopbrs nposars 3583 oxw Kompm-
fm, o 46 npannma oxm-Ta, KOIKO NBaHUOBE € 3eds ?
~— o1B. = 164818 np.

6) Eaunn 1pprosens nma 25848 ok knTO B
KATHAOH-TH CH  (XambapA  cm), KOIKO rpoma me
seme, ako ro npoange no 20 rp. Ok&-TH ? — oTB,
=516960 rp.

p) Koaro rpowsa rpbosars sa 6 wbeana k-
aupenie ua exno orgbrenie (rabypnp), Koe-10 b~
erou ors 750 Boitnn, ako cbkw soiins sema 14 rp.
na whbeans ? — or8. = 63000,

r) 1858 roauin KOIKO AuM HMATH, KOra-To
365 aum mpasidtd - eAud TOAMMN P KOAKO yaca, M
KoAk0 Muuyrn ? — orB. = 678,170 Aun. 2,712,680
yaca, 162,760,800 munyrn.

A) Eanns uosbis wma ors 15,674 yspara
eano’ 10sie, n 3a Aga ro oGpaborn TpbOBaTs 7 Ta-
AHDA 34 CAMUT YBPATh; TA3M -rosuna gomece 5T




